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Merit exemplar for 91177 2014 Total 
score 

23 

Q 
Grade 
score 

Annotation 

1 M6 

• Explains the mark-up percentage, with an example 
• Links the idea that the same mark-up, when applied to a lower 

cost, will reduce the selling price to customers. 
• Explains the lower selling price has resulted in increased sales 

from $400 000 in 2013 to $480 000 in 2014 

2 M6 

• Correct calculations and correct rounding 
• Net profit percentage explained correctly 
• Explained the reason for decreased Net Proft % as a result of 

hiring a new administration person and referenced the resource 
material 

• Explained that the finance cost decreased because Sweetworld 
paid of the loan, using dollar reference 

• Explained how reducing finance cost percentage minimised the 
impact of the increasing administrative expense percentage 

• Explained the decreasing Net Profit trend is unlikely to continue 
because of steady forecast sales growth and refers to the 
resource where it says Brianna has no reason to hire any more 
staff 

3 M5 

• Correct calculations 
• Explains Equity Ratio correctly in context 
• Explains the improved Equity Ratio is a result of reducing the 

loan and uses dollar amounts to support explanation 
• Explains that assets decreased with reference to dollar amounts 

and reference to the investment decreasing 
• Explains that the improved Equity Ratio will benefit Brianna if she 

wants to expand, as it makes Sweetworld appear more 
financially stable to the banks who will lend them the money for 
expansion  

4 M5 

• Answers both parts of the question  
• Explains the reason for the improved inventory turnover is the 

increase in sales 
• Explains that the reason for an inventory turnover of 30 times per 

year minimum is that fudge and lollies are perishable 
 
 In part (b), explains the current ratio correctly in context 
 
• Explains that because of the increasing inventory turnover, 

generating increased sales the liquidity of Sweetworld has 
improved and they are better able to meet their current debts 

 

 


